ERSY/ G s
AND OFF! |

mmmm&m
@@mdﬁmmm= i (

. ] hd Y

WWW.ROCKTAMERS.COM
1-800-545-1894

19475 Beacon Lite Road ® Monument, CO ¢ 80132



PART# 00108 FITS PART# 00112 FITS
Rock Tamerse® 2" Hub 144 2 Rock Tamers® 3" Hub 3”
Mudflap System DRAWBAR/RECEIVER Mudflap System
Matte Black Matte Black
w/Stainless Steel Trim Plates w/Stainless Steel Trim Plates

{1111 | i
Rock Tamer5® 4" to 96 %"
114 Rock Tamers-{(2¥szJHub) iy ;
il Rock Tamer5®1/4" to 97 %"

RCCK TAMERS'M | ‘RCCK TAMERS' ;_::ﬁ i'
| iy

‘) UV RI*OTECTED FORGED ALUMINUM HUBS & ARMS |
), 3/8" THICK, 24" X 24" WIDE #lBER REINFORCED RUBBER MUDFLAPS

Minimum horizontal Space
Requirement 67.5"

DISPLAY STAND - PART #00400
Requires Standard 2" Hitch

Drawbar Mount for Display
(Not Included)

Center Hub Requires

{+]
;gq';é%fq Minimum 1” Clearance

DRAWBAR/RECEIVER




ROCK TAMERS

TAIL LIGHT BARS

TAIL LIGHT BARS*

EASYATO,

SR S TALLE

\ INGLUDESI4]WIRE|FATS
x GONNEGTOR!,

° HIGH INTENSITY LED
ILLUMINATION

* RUNNING, BRAKE' AND
TURN SIGNALS

=55 o SECURELY/BOLTS TO
ROCK.TAMERS®

e TAMERS, MUDFLAP.SYSTEM
_Fic" *Rock Tamers® System Sold Separately
K [ HM Er

EXHAST OUTLET HEAT SHILD
RT200 | I RT230
EXHAUST 4 5 ol [ ‘HEAT SHIELD*
OUTLET* ; -'\5‘3‘.‘::\ e et e Patented ,
Patent Pending ‘_\‘:\“:“~‘:\‘\; '
| A Y | PROTECTS
“ALLOWS AR ')’ /" FLAP FROM
| EXHAUST - : | |HEAT AND
J'HEAT.TO - - " S A YD\ (| EXHAUST
ESCAPE! ]

GASSES

*Rock Tamers® System Sold Separately *Rock Tamers® System Sold Separately



ROCK TAMERS

" ROCK SCREEN

" ‘l‘l

RT250
ROCK SCREEN*

NEWLY REDESIGNED!

ADDED - ( ‘ =

PROTECTION
FROM ROAD
DEBRIS! Z&%‘!ﬁﬂ&kh

ot

RT260
SHIN TAMER*
- Fits 2" Drawbar :

RT265
SHIN TAMER* W
- Fits 2 1/2" Drawbar
PROTECT YOUR
SHIN WHEN

TOWING A 5TH
WHEEL

*Rock Tamers® System Sold Separately

REPLACEMENT PARTS

Flap End Cap (1 Cap)

Mudflap (Uses SS Trim Plate)

Bolt Hole Punch, Black

Rock Tamers® SS Trim Plate

2" Center Hub, Matte Black

Hub Arm (Right), Matte Black

Hub Arm (Left), Matte Black

Flap Support Rod
Flap Clamp, Matte Black

M18 Arm Pivot Bolt Kit

M10 Ball Mount Clamp Bolt Kit

M6 Arm Clamp Bolt Kit

M6 Trim Plate Bolt Kit

End Clamp w/ Bolt Kit

M8 Flap Clamp Bolt Kit

2.5" Center Hub, Matte Black

M5 Flap Retainer Bolt Kit

3" Center Hub, Matte Black

Bolt Bumpers, 11 per pack




=
ACCESSOR

sl TN IERAMES

Dom—T - '
° RCK TMRS |,
’
~ocK TAMERS
ROCK TAMERS' ROCK TA

HOCK TAMERS

DEd . 8 :
9475 Beaco e Road, Mo p D 80 p
300.545.1894 orframes.co »



